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A.e�Ôeµ%K�V�(ḈÐ3�\�ÛÏ�,¥@ 18�\�)

A-1. lim
n→∞

n2 + n + 1
2n2 + 9

= .

A-2. �<ÊÃº f (x) = x5 + 2x
3
2 _� �̧�<ÊÃº f ′(x) = s�

��.

A-3. &ñ
&h�ì�r
∫ √π

0
x sin(x2) dx_�°úכ�Ér s���.

A-4. '��§>= F =

1 1

0 1

 ü< G =

1 2

0 1

 \� @/
�#� '��§>= H��

FHF−1 = G\�¦ëß�7á¤
����, H10 = s���.

A-5. ýe³ð/BNçß�0A_�[j&h� O(0, 0, 0), A(1,−1, 0), B(2, 1, 3)\�@/
�

#� ∠AOB = θs����, cos θ = s���.

A-6. î̈
��� x − 3y + z = 3 õ� f����� x = y = z − 1 _� �§&h��Ér

s���.

B.L±Ó¦�>%K�V�(ḈÐ7�\�ÛÏ�,¥@ 49�\�)

B-7. lim
n→∞

3n∑
k=1

1
n

cos
kπ
n

sin
2kπ
n
= .

B-8.
d
dx

∫ x2

ln x

√
1 + t4 dt = .

B-9. ýa³ð/BNçß�\�"f{9��̂�̧+þA S ����6£§õ�°ú s�&ñ
_�÷&#Qe����.

S =
{

(x, y, z) |
x2

2t
+ y2 ≤ 1, z = t,

1
2
≤ t ≤ 1

}

s�M:, S _�ÂÒx���H s���.

B-10.
∫ π

0
e2x sin 3x dx = .

B-11.  7�'� ~a, ~b, ~c_�ß¼l���y��y�� |~a| = 2, |~b| =
√

7, |~c| = 1s��¦

1pxd�� ~a + ~b +~c = ~0 �̀¦ëß�7á¤ô�Ç��. s�M: ~aü< ~c��s�ÀÒ��Hy��

_�ß¼l���H s���.

〈Ü°c�ôÜ�çà �̀ëÊ� 〉
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F 12£U>ÉÙ'a 16£U>��m�ÐM�"��ä·ÌfC���f���. F

B-12. ��"é¶
x2

25
+

y2

16
= 1_�¿º�í&h� A, Bü<��"é¶0A_�&h� P\�@/


�#�¿º���ì�r AP, BP_�U�́s�_�Y�L_�þjÎ.	°úכõ�þj5Åw°ú̀�כ¦ ½̈


�r��̧.

B-13. ��6£§[j �̧|	��̀¦ �̧¿ºëß�7á¤
���H�<ÊÃº f (x)\�¦ ½̈
�r��̧.

(a) f (x)��Hz�́Ãº����̂\�"f���5Åqs���.

(b) f (0) = 3.

(c) �̧��Hz�́Ãº x\�@/
�#� f (x) = f
( x

2

)
s���.

C.ÐÏ��ª%K�V�(ḈÐ11�\�ÛÏ�,¥@ 33�\�)

C-14. z�́Ãº ����̂\�"f p�ì�r��0pxô�Ç éß��̧7£x���<ÊÃº f (x) ü< g(x) ��

��6£§ �̧|	��̀¦ëß�7á¤ô�Ç��.

(1) f (0) = 2, f (1) = 3.

(2) �̧�<ÊÃº f ′(x)��H���5Åqs���.

(3) �̧��H x ∈ [0, 1]\�@/
�#� f (x)2 − g(x)2 = 1s���.

��A�&h�ì�r°ú̀�כ¦ ½̈
�r��̧.∫ 1

0

f (x)g′(x) − f ′(x)g(x)
f (x)2g(x)

dx

C-15. ýa³ð/BNçß�\�[þt#Qe����HìøÍt�2£§s� 1��� ½̈���0A\�"f¹¡§f��s���H

[j&h� A, B, C \�@/
�#�?/&h�
−−→
AB ·
−−→
AC _�þj5Åw°ú̀�כ¦ ½̈
�r�

�̧.

C-16. an =

(
1 +

1
n

)n

Ü¼�ÐÅÒ#Q|9�M:, �̧��H�����Ãº n\�@/
�#�

an ≤ an+1 s�$í
wn��<Ê�̀¦�Ðs�r��̧.
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